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1) B i) $300 X 51 0 0 0 0 1,500 0 0 0 0 o] 1,500
i) $300 x 10 (@ 0 0 0 0 3,000 0 0 0 0 o] 3,000
i) 140 x 100 #T 0 o[ 14,000 0 0 0 o] 14,000 0] 14,000 0
iv) 50 X 50 f& 0 o[ 2500 0 0 0 o] 2,500 o] 2500 0
V) 300 x__ 15 {# 0 0 0 0 4,500 0 0 0 0 o] 4,500
vi) 50 x 150 f&i 0 o[ 75500 0 0 0 o] 7,500 o] 7500 0
vii) 375 X 5 {# 0 0 0 0 1,875 0 0 0 0 o] 1875
viii) 375 X 5 f# 0 0 0 0 1,875 0 0 0 0 o[ 1875
PEIE S L] i) 148 x 1{H5 X 2/\ x45- 3 0 0 888 296 0 0 0 888 0 888 0
i 148 x L[5 x 2/\f x 4 30 0 0 888 296 0 0 0 888 0 888 0
i) 66 X 4{[H15 X /NI X 8571 0 o] 2376] 3960 0 0 o] 2,376] 3168] 5544 0
iv) 3 73 % 3{E % 2N x 3 0 0 876 438 0 0 0 0 0 0 0
V) K 8 XA A 0 0 0 332 0 0 0 0 0 0 0
Vi) R 148 X LS % 2N X 0 0 0 296 0 0 0 0 0 0 0
vii) - FEBk 14 X 45546 x 2N x 6 2] 0 0 0 672 0 0 0 0 224 224 0
viii) HEER (BT 148 X 1{{45 X 3/]Ni% X 7 61 0 0 888 2220 0 0 0 888 1.776] 2664 0
iX) HEER(Z TR 148 X L[5 X 3/ NI X 71+ 611 0 0 888 2220 0 0 0 888 1.776] 2664 0
X)W $960 X L5 x 2/)\#F X 10F - $960 x 4/\iF x 51 0 0 0 0 38,400 0 0 0 0 0| 38,400
3) HRE i) (TR 283 x 1 Jix 2 /\E»>430 0 o] 1698 566 0 0 o] 1,698 0] 1698 0
i) (LR 283 x 1 Ax 2 /N\E>43H 0 o] 1698 566 0 0 o] 1,698 0] 1698 0
i) k 283 X 2 Ax 3 /\E>»87H 0 o] 5004 8490 0 0 o] 5,004] 6792 11,886 0
iv) ' $283 X 2 Jx 2 Ao 3H 0 o] 2264 1132 0 0 0 0 0 0 0
V) K $283 X 2 Jx 1 A 45 0 0 o] 2264 0 0 0 0 0 0 0
vi) AR 5283 X 2 Jx 2 A 1A 0 0 o] 1132 0 0 0 0 0 0 0
vii) Bk 283 X 2 Ax 2 /NE>62H 0 0 o] 6792 0 0 0 o 2264 2,264 0
viii) HEER(ETI%) 283 x 1 Ax 3 /760 0 o] 1698 4245 0 0 o] 1,698 3396 5,094 0
iX) HEER(ZCTBR) 283 x 1 Ax 3 /E»760 0 o] 1698 4245 0 0 0] 1,698 3396 5,094 0
X) IR 283x2 A x2/[\IEx10 ]~ $283x2 A xd/ NI x5 0 o] 15848] 6792 : 0 0 0] 13,584] 9,056] 22,640 0
xi) EER 283 X 1 JAx 2 /Ny 20 0 0 566 566 1,132 0 0 0 566 566 1,132 0
7,500 ] 0 0 0 0 0 0 0 0 0 0
1,200 1] 0 0 0 0 0 0 0 0 0 0
Gl I RTEH (4) 7 iEnEs 0 0 0 0 0 0 6,000] 16,000 0 0 0 0
5) %7 i 0| 16,560 0 0 0 0 0 0 0 0 0
0| 10,500 0 0 0 0 0 0 0 0 0
(ERFLIETEE (6)) 0| 16,560 0 0 0 0 0 0 0 0 0
£ P JERpn. 0| 16,500 0 0 0 0 0 0 0 0 0
ﬂ‘[ﬂ*#%ijii‘ 0| 6.000 0 0 0 0 0| 20,000 0 0 0 0
SRR LT 0| 6.000 0 0 0 0 0 0 0 0 0
0| 4500 0 0 0 0 0 0 0 0 0
0| 16,500 0 0 0 0 0 0 0 0 0
0| 16,500 0 0 0 0 0 0 0 0 0
6) ey (FeFEEHE) $50 X 24 A X 7 H 0 0 0 8,400 8,400 0 0 0 0 8,400 8,400 0
(M T B 2 R, $50 X 24 p  x 14 {H 0 0 0| 16,800] 16,800 0 0 0 0| 16,800 16,800 0
2 AT ) $50 x 16 A x 14 [ 0 0 o| 11,200 11,200 0 0 0 o 11,200 11,200 0
$50 x 40 A x 7 @ 0 0 0| 14,000 14,000 0 0 0 0| 14,000 14,000 0
50 X 52 A x 2 H 0 0 0] 5200 5,200 0 0 0 0] 5200[ 5,200 0
50 X 72 A x 2 H 0 0 0| 7,200] 7,200 0 0 0 0| 7,200] 7,200 0
50 X 50 A x 5 H 0 0 0| 12,500| 12,500 0 0 0 0| 12,500] 12,500 0
50 x 18 A x 7 H 0 0 0] 6,300 6,300 0 0 0 0] 6300] 6,300 0
50 X 16 A x 14 { 0 0 0| 11,200| 11,200 0 0 0 0| 11,200 11,200 0
7) TETERIR 300 X 24 )\ x 2 == 0 o[ 7,200 0| 7,200] 7,200 0 0] 7.200 0| 7,200]  7.200
(SR EEEE (7)) 300 X 24 p_ x 2 %= 0 o[ 7,200 o[ 7,200] 7200 0 o] 7,200 o] 7200] 7200
300 X 16 A x 2 % 0 0| 4800 0| 4800] 4800 0 o] 4,800 0| 4800] 4800
300 X 40 A x 2 £ 0 0| 12,000 0| 12,000] 12,000 0 o] 12,000 0| 12,000] 12,000
3 300 X 52 A x 2 % 0 0| 15,600 0| 15,600] 15,600 0 0] 15,600 0| 15,600] 15,600
vi) FHER 300 X 12 A x 2 % 0 0| 21,600 0| 21,600] 21,600 0 0] 21,600 0| 21,600] 21,600
vii) THIRIEE 500 X 50 A x 1 = 0 0 0 0 o] 25000 0 o] 15,000 0| 15,000] 10,000
viii) i H 300 X 18 A x 2 %= jn2# 0 0| 5,400 0| 5,400] 6,000 0 o] 5,400 0| 5,400] 6,000
ix) [EFEE 300 6 ) x 2 = 0 0| 4800 0| 4800|4800 0 o] 4,800 0| 4800|4800
8) TTEL i) BhERARE (T 13000 X sm Fix afw4>-1 05 (1) 0 0 0] 54,600] 54,600] 27,300 0 0 0| 54,600 54,600] 27,300
i) B 9500 x 61E F x Gafili 4:1.05 (2 A) 0 0 0| 38,000] 38,000] 81,700 0 0 0| 38,000 38,000] 81,700
i) LT 0 0 0| 30,000] 30,000 0 0 0 0| 40,000 40,000 0
9) ¥ i) /K ($2x 250%) 0 0 0 500 500 0 0 0 0 500 500 0
i ke 0 0] 10,000 0| 16,000 0 0 0 0 0 o[ 10,000
i) fEE 0 0 o] 2000 2000 0 0 0 o[ 10,000] 10,000 0
/et ¢ |$8.706 [$79:500 | $149.968 | $265:420 $6,000 [$36,000 | $149,564 | $268,314
R , 715398 $415,388] $264,350 472,000 T8 $417,878]$259,350
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